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j Your favorite dog groomer charges according to your ¢ 105 ight. If your dog is 15 pounds and under, the groomer charges 535. If your dog is betweer
pounds, she charges $40. If your dog is over 40 pounds, charges 54r] nlus an additional $2 for each pound.
(a) Write a piecewise function that describes what your dog groomer charges.
(b) Graph the function
(c) What would the gr er charge if your cute dog weighs 60 pounds?
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aluate each piecewise function for x = —3 and x = 4.
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The rate of decay of a certain sub-atomic p;lrliulc at a temperature of 0° C and

lower is modeled by the equation f(x) = x" +4x. At temperatures above 0° C its

v)

ate of decay is modeled by the equation f(x)=—-x"+4x+2. Please model the

rate of dec
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